
EX4.3.3 avec solution entre d'et 360 jusqu'au el

a cost t 1 0 3600 240 5 120 240

b sink 0,829 t 15 56 124
5 456,124

4 tank 0,754 t
37,02 360 322,98
180 137,02 142ggo

5 4112,98 321,98

d cost 1,43 impossible car cost 1,1 S

et tantf 5,33 t
79,37

180 79,37 259,37
S 79,37 259,379

fl SINGH _Bz 3f
00 b360ᵉ ou 300th 360

180 160 b360ᵉ 240 6.360

t
20 k 120 ou 100 6.1201

80 k 120 k 2

g tant5t 3,273 5E 73,01 k 180

t E 14,6 k 36 RE 2

H cos E 1
120 b 360

120 6.360 ou 2404k360



t
240 b 720

240th 720 ou 480th 7204

IREZ


